AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicabl	e box) RAL CANDIDA	ATE	STATE	E/LOCAL CA	NDIDATE
		es of The Low Indidates Mus			
Station and		- Marian,	tnd.	Date:	: 0/4/22
being/on behalf	of: Delas				, a legally
	ice of: <u>Cente</u>	pusican v townsh			political
	eld on:est station time as	follows:	2520		
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
		see Att	ached		
Total Charg	jes: #820	Q -			

For programming that, in whole on national importance," list the man	or in part, "communicates a message re tters below:	lating to any political matter of
10010		
I represent that the payment for t	he above described broadcast time has	been furnished by:
•	in for Center to suship	
and you are authorized to announ	ce the time as paid for by such person of	or entity.
committee/organization of the leg	ity is either a legally qualified candidate gally qualified candidate.	e or an authorized
The name of the treasurer of the c	candidate's authorized committee is:	
Debo	sah Cain	
	ts political advertising policies, includir ner sales practices (not applicable to fed	
THIS STATION DOES NOT I	DISCRIMINATE OR PERMIT DISCR	RIMINATION ON THE BASIS
OF RACE OR ETHNICITY IN	THE PLACEMENT OF ADVERTISI	NG.
To Be Sianed Bv	Candidate or Authorize	d Committee
10-4-22	Deberah Cair	
Date	Signature	
To Be Sian	ed By Station Represent	tative
	ca by balance respective	
Accepted	☐ Accepted in Part	Rejected
21.		
Signature	Printed Name	General Sales Manager Title

CANDIDATE CERTIFICATION

In Order For Federal Candidates to Receive The Lowest Unit Charge During a Political Window, the Following Certification is Required:

I,	Delsoh Cour			
•				fy that the programming
to be	broadcast (in whole o	r in part) pursua	ant to this agreement:	
	\Box does	M	does not	
	to an opposing candid amming that does refe	` -	icable box). I further c g candidate:	ertify that for the
(chec	k applicable box)			
	1 0	te, the office be	ersonal audio statemen	t by the candidate that e candidate has
	image of the candidat displayed printed stat	e for a duration ement identifying the candidate		ls, and a simultaneously he candidate approved
	Deborah (sign	nature of candidate	e or authorized committee	
T	Deborah	Cain inted name		10-4-22 date

Hoosier AM/FM LLC - Marion 820 S. Pennsylvania Street Marion, IN 46953 765-664-6239

Order #:

2646-00005

Description:

Political 2022 10/4/2022

Date Entered: P.O.#:

Salesperson:

Pyle, Joel

Invoice Frequency: Billed at end of Cal/EOS, Sorted by Date

Phone/Fax:

765-661-0102

DEBORAH CAIN FOR CENTER TOWNSHIP TRUSTEE

Attn: DEBORAH CAIN 4622 S Carey Street MARION, IN 46953

On-Air Schedule

	Start Date	End Date	Station	Scheduled Time/Event	Repeated	<u>Length</u>	Qty	Rate	<u>Total</u>	<u>M</u>	<u>Tu</u>	W	<u>Th</u>	<u>F</u>	<u>Sa</u>	<u>Su</u>
1	10/17/2022	11/8/2022	WXXC-FM	06:00:00a to 10:00:00a	Weekly	:30	11	17.00	187.00	1	1	1	0	0	0	0
2	10/31/2022	11/8/2022	WXXC-FM	03:00:00p to 07:00:00p	Weekly	:30	5	15.00	75.00	1	1	1	0	0	0	0
3	11/7/2022	11/8/2022	WXXC-FM	10:00:00a to 03:00:00p	Weekly	:30	2	16.00	32.00	1	1	0	0	0	0	0

Projected Calendar Month/End-Of-Schedule	Billing Totals for DEBORAH	CAIN FOR CENTER TOWNSHIP TRUSTEE / 26	46-00005
	Spot Count	Net Billing	
October 2022	8	\$134.00	
November 2022	10	\$160.00	
November 2022 Total:	10 18	\$160.00 \$294.00	

Confirmed & Accepted for Hoosier AM/FM LLC - Marion By:

Accepted for DEBORAH CAIN FOR CENTER TOWNSHIP TRUSTEE By:

Please Sign and Return One Copy

Printed: 10/11/2022 At 11:11:44AM

Hoosier AM/FM LLC - Marion 820 S. Pennsylvania Street Marion, IN 46953 765-664-6239

Order #:

2646-00006

Description:

Political 2022 10/4/2022

Date Entered: P.O.#:

Salesperson: P

Pyle, Joel

Invoice Frequency: Billed at end of Cal/EOS, Sorted by Date

Phone/Fax: 7

765-661-0102

DEBORAH CAIN FOR CENTER TOWNSHIP TRUSTEE

Attn: DEBORAH CAIN 4622 S Carey Street MARION, IN 46953

On-Air Schedule

	Start Date	End Date	Station	Scheduled Time/Event	Repeated	<u>Length</u>	<u>Qty</u>	Rate	Total	<u>M</u>	<u>Tu</u>	W	<u>Th</u>	<u>F</u>	<u>Sa</u>	<u>Su</u>
1	10/17/2022	11/8/2022	WCJC-FM	06:00:00a to 10:00:00a	Weekly	:30	11	17.00	187.00	1	1	1	0	0	0	0
2	10/31/2022	11/8/2022	WCJC-FM	03:00:00p to 07:00:00p	Weekly	:30	5	15.00	75,00	1	1	1	0	0	0	0
3	11/7/2022	11/8/2022	WCJC-FM	10:00:00a to 03:00:00p	Weekly	:30	2	16.00	32.00	1	1	0	0	0	0	0

Projected Calendar Month/En	d-Of-Schedule Billir	ng Totals for DEBORAH	CAIN FOR CENTER TOWNSHIP TRUSTEE / 2646-0
		Spot Count	Net Billing
October 2	2022	8	\$134.00
November 2	2022	10	\$160.00
Total:		18	\$294.00

Confirmed & Accepted for Hoosier AM/FM LLC -Marion By:

Accepted for DEBORAH CAIN FOR CENTER TOWNSHIP TRUSTEE By:

Please Sign and Return One Copy

Hoosier AM/FM LLC - Marion 820 S. Pennsylvania Street Marion, IN 46953 765-664-6239

Order #:

2646-00007

Description:
Date Entered:

Political 2022 10/4/2022

P.O.#:

Salesperson: Pyle, Joel

Invoice Frequency: Billed at end of Cal/EOS, Sorted by Date

Phone/Fax: 765-661-0102

DEBORAH CAIN FOR CENTER TOWNSHIP TRUSTEE

Attn: DEBORAH CAIN 4622 S Carey Street MARION, IN 46953

On-Air Schedule

	Start Date	End Date	Station	Scheduled Time/Event	Repeated	<u>Length</u>	<u>Oty</u>	Rate	<u>Total</u>	<u>M</u>	<u>Tu</u>	W	<u>Th</u>	<u>F</u>	Sa	<u>Su</u>
1	10/17/2022	11/8/2022	WBAT-AM	06:00:00a to 10:00:00a	Weekly	:30	11	14.00	154.00	1	1	1	0	0	0	0
2	10/31/2022	11/8/2022	WBAT-AM	03:00:00p to 07:00:00p	Weekly	:30	5	12.00	60.00	1	1	1	0	0	0	0
3	11/7/2022	11/8/2022	WBAT-AM	10:00:00a to 03:00:00p	Weekly	:30	2	12.00	24.00	1	1	0	0	0	0	0

Projected Calendar Month/End-Of-So	nedule Billing Totals for DEBORAH	CAIN FOR CENTER TOWNSHIP TRUSTEE /	2040-00007
	Spot Count	<u>Net Billing</u>	
October 2022	8	\$110.00	
November 2022	10	\$128.00	
Total:	18	\$238.00	

Confirmed & Accepted for Hoosier AM/FM LLC - Marion By:

Accepted for DEBORAH CAIN FOR CENTER TOWNSHIP TRUSTEE By:

Please Sign and Return One Copy